Test Booklet Series This booklet contains 32 pil A-AS Test Booklet No.
udtar gRaer AR o gfkaeT ¥ 32 78 §1 Test Booklet/gflen gRaamr | o¥ien gRawr ear
= Do not open this Test Booklet until you are asked to do so.
70 oden gRa® B 99 9% A7 @i oW a6 el 7 9|
Read carefully the instructions on the back cover of this booklet.
za wher gRae & Rree amavr w Ry Fde ot e | 0@
~ Allowed Time : 120 Minutes Maximum Marks : 300

fPuffRa g9g : 120 A\ ffrFHan 3 @ 300

1. The OMR Answer Sheet is inside this Test Booklet. 3l TH. 3. GO gEp §¥ A R %313? SISE
When you are directed, open the top seal of Test Booklet. st (efd fE S o 9ol Hi| @l Wi I
take out the Answer Sheet and fill in the particulars qRIIT BT aTER FWSWF o ot oad Ry gu famwm 2l
carefully with blue/black ball point pen only. et/ wret Ao dige 99 § SIS R

2. The test is of 120 minutes duration and consists of 150 e @) arafy 120 ATE @ 1d o 150 TERFENT TH
objective type questions. Each question carry 2 marks # | uerE W 4 g 9TR @ o 2 afd ¥ yle e
for correct answer. 0.5 marks will be deducted for each ITR @ AT 05 P HIeT ST | '
WOrng answer.

3. Use Blue/Black Ball Point Pen only for writing m{g gﬂﬁm _'ﬂ_lgl (Iml\l I ¥4 Fi—{ﬁ,qa_ q?ﬁfiran
particulars on this page and marking responses in the :_;r SRELE / qrel ufge U9 @ T §EhT
Answer Sheet. ERE -

4. Make sure that the Test Booklet No. and Series marked Te GRIRET o & f 3t . SR, IR g F @ ad
by you on the Answer Sheet is the same as that on this uen g v vd wden gRasn W ae 2o
Booklet. ga e giera § oifka §) N

5. Reugh work should be done only in the space provided 3 (ear) @ aen gfkaet § A Tl @l 5w
in the Test Bookle:. P |

6. The answers are 30 be ‘r.ecorded‘un the IOMR A_ns:wcx: o SR DA ). U N, TR T3 9 & i =
Sheet only. Mark your responses carefully. No whitener; P o 3
eraser/ Blade is allowed for changing answers. SO TN BRIEAYED HieT @ | 3;” qge &g

RIgeR /A8 / @ & g g 21

7. After opening the Test Booklet, please immediately . . o . )
ensure that the Test Booklet contains as many number qeleT giTa @1{’!‘? ZI-T_ BEGEE ICAREIE] v e o fb
of pages as written on the top of this page. Also ensure g 93 @ gl @ wem e o @ il o fefem
that no page or question is misprinted, torn or left blank. T @ v &1 g8 ff o e oden giae § 18
It any discrepancy is found in test Booklet, show it to far wur, wer 1 BTT B3l U A iy A8 2| afe
Invigilator and get it replaced with test booklet of same qteny 1 8§ FIS FN & o B AraiEs @) Rarw
RERR Gl @ gardt oden yfkaat we wR e |

Name of the candidate (In Capitals) rhrive 1
__ P Lﬂ O 'b‘ir iva.in
el @1 A (93 et A) y

In figures (31 #)

Roll Number (3e#ie):
In words (¥r&1 #) -

Centre of Examination (G9 &g &1 =) :
Candidate Signaturr
el & ERER

Invigilators Signature
B IINTD B TRIAR

Unofficial answer key by jobriya



Ql

Q2

Q3

Q4

Qs

Q6

General Know ledge

Which of the following districts has been QI

included as the 23rd district of the National

Capital Region (NCR)? = Tk
(A) Shamli (A) TS
(B) Aligarh J j‘;mﬂwJ in @ =<
(C) Agra (Cr &F71=1
(D) Mathura (DY =g

-

Which is the first Indian state to ratify the Q 3R WA IR (SITAd)) W FEEg

constitutional amendment bill on the Goods wEie fae B fave v+ wawem argEifed
and Services Tax (GST)? T er?
(A) Uttar Pradesh (A) IER 99
(B) Maharashtra . (B) HaETTS,
(C) Assam
(D) Bihar (D) Td8
Who was the first king of the Pala Dynasty? Q3 BIGIUSENIE N CER U IR I
(A) Gopal § T
(B) Nandlal Ahriva rdB) dade
(C) Dharmapal J O Evsfi “;1* da. U
(D) Devapal (D) cguld
An estate where a single cash crop is grown Q4 U 9FH 98l f[d@l & [ Udh Fdhg vad
for sale is known as iy RUIERCIRTE R S % ®U H STl
(A) Subsistence farming ST & |
(B) Kitchen garden (A) frats &y
(C) Jhoom cultivation (B) a1 wre+
(D) Plantation farming (C) 3m @t
' (D) v e
Which planet besides Neptune is known as Q5 TSI B Acmar 3 fhy U ARSI
the ‘Blue Planet™? s i S b wad 87
(A) Earth Jobriya.ir
(B) Mars (B) il
(C) Pluto (C) el
(D) Jupiter (D) TdTex
Which of the following is NOT a noble gas? Q6 - Fy=foRaa # @ @ W Rew Aftsa i
(A)" Krypton el 87
~(B) Argon (A) et |
(C) Xenon (B) 3mid,
(D) Chiorine (C) S
(D) =~

A-MS
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Who is the author of the book “The Why- Q7
Why Girl'?

(A) Mahasweta Devi

(B) Ruskin Bond

(C) Enid Blyton

(D) Olivia Fraser

Q7

o

ﬁjfi Plﬂ'\r f l,

Q8  isthefounder of the Gulabi Gang —

an Uttar Pradesh and Madhya Pradesh based

social organisation which works for women

welfare and empowerment.

(A) Sangeeta Pal Devi

(B) Sampat Pal Devi

(C) Sheila Pal Devi

(D) MishiChoudhary

Q9  Moradabad is renowned for _ work QY
and has carved a niche for itself in the
handicraft industry throughout the world.
(A) copper
(B) brass
(C) diamond
(D) steel

Q10  Which was the first country to allow women Qlo

to vote?

(A) SaudiArabia

(B) India

(C) New Zealand

(D) Russia

®

[ O] r&‘

W S
Which movement in India was led by the Ali Ql I
brothers. Shaukat and Muhammad Ali?
(A) QuitIndia Movement
(B) Khilafat Movement
(C) Chalo DilliMovement -
(D) Bovcott Movement

Ql11

Ql2

Part 1V of the Indian Constitution deals with

Q12

(A) Fundamentat Rights

(B) Directive Principles of State Policy
(C) The Union Judiciary

(D) Parliament

o
o ) ad AV L= i
n - )
eV ‘1_-»7 \.E'f ]] YCl. ]
J'

JL
riva
v CA

Tt AGH TR D AGD D T7
[(A) sezaan <t |

(B) Wawa dive

(C) v =geA

(D) anferfaar mwy

ATl T @ EReITE B
wwmwmﬁwﬂﬁw AR D
Tued & il #igell Hevl Ug [ DT
B G Nl B |
A) dhiar ga &dl
|(B) @ua arer adt |
(C) drelr gret <dl
(D) fAfdr drr)

IEMETE, . . B wg g ®
3% I DW i g¥cIbell IEATT H YT
JTAT YR §919T B |

(A) drael
(B)
(C) BRI
| (D) €Y

ﬂﬂuem fg 23 J #fgen @1 HagE B
e were @l E’fﬂr’

(A) AHG-3R4

(B) ¥IRd
(G et~
(D) &%

AN

e A el qeal, i ud e el |
fopar ariaTes @1 <qea faar o

(A) ¥Ra BIS IrETad
| (B) Raemw anarer |

(C) faoel Telt aiialer

(D) afzsmR i

WA AR @ T IVH e

Eal
fereor g 21
(A) Hevd BN
Iy wu @ fa Rdee Riga |
(C) Ha B ~ryIferel
(D) HHe
SET-55



Q13

Ql4

Q15

Qlo6

Q17

Q18

A-MS

Black soil is also known as soil.
(A) Regur

(B) Humus

(C) Bhangar

(D) Crystalline

Sardar Vallabh Bhai Patel University of
Agriculture and Technology (SVPUAT) isan
agricultural university at in the Indian
state of Uttar Pradesh.
(A) Lucknow

(B) Pantnagar

(C) Meerut

(D) Saharanpur

Article 4 of the Universal Declaration of
Human Rights (UDHR) deals with

(A) Freedom from Slavery

(B) Right to Education

(C) Right to Own Property

(D) Right to Marriage and Family

&

J@@»ya

(A) ¥R

(B) &yAv
(C) 9aR
(D) fhice™

Ml ®ed €|

AYER oot Hid uld, $fl ok aaiiel
favafaqaraa (vadified)), wra @
SRR U B H Rod b
oY fwfgaea g1

) TRETEH
lj(%3) HAIY
|(,) G

(D) HER-TYY

Mma HfererRT @ ard+ifie erwom

1&3}%[ I’:wf‘\

Which Indian NGO won the 2017 United
Nations Development Programme’s (UNDP)
Equator Prize for promoting an ecologically
sustainable farming model?

(A) Smile Foundation

(B) Pratham

(C) Swayam Shikshan Prayog

(D) Samman Foundation

Jobriya.in

What does a light year measure?
(A) Distance

(B) Speed

(C) Energy

(D) Weight

The colour of the human eye depends on the
pigment present in the of the eye,

- (A) lIris

(B) Cornea
(C) Face
(D) Lens

i

- Ql6

>

S

(TENER) B ATBE 4 H oo, DT
frawor gwae fpar s )
(A) T § W@
(B) RRrem &1 arfosr
(C) Aol Hufed &1 3R

(D) fare vd yRar &1 faR

f&aﬂ HRdld AR WXEN WU @,
uiRRerfiela el Hfy smesl TFn &
gl @q dyad g Rorg arde
(JUTSHdY) 2017 BT gHdER YRWPR UG
faser am 27

(A) HIEA HISSTH

(B) werH

[(C) =i Rwror s |

(D) EHIH B39

UHIe gy, fhuedl J1U4 bidl 82
(A) 2
(B)
(C) St
(D) IR

ug® Bl ARG B, IR B
Rerg Sgey v Ak @ar 8
| exf snsRe |
(B) @ff=an
(C) w4
(13) o
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Q19

Q20

Q21

Q22

Q23

Q24

A-MS

Who wrote the book "_Hind Swaraj’?
(A) Mobhandas Karamchand Gandhi .
(B) Gopal Krishna Gokhale
(C) Bal Gangadhar Tilak
(D) Maulana Azad

||/jLP\;r

Which of the following regions of Uttar
Pradesh was known as *‘Chedi” during Sixth
Century B.C.?

(A) Bundelkhand

(B) Avadh

(C) Ang

(D) Avanti

Who was the last ruler of the Maurya
dynasty?

J oL
(A) Ashoka Jobt

(B) Bindusara
(C) Brihadratha
(D) Pushyamitra

In ancient India, the ashram of Jamdagni

Rishi was in Jamaniya, which was located in
district of present day’s Uttar

Pradesh.

(A) Lucknow

(B) Ghazipur

(C) Varanasi

(D) Sitapur

King Harshvardhan established a large center

of knowledge which was called as ‘Bhadra-
Vihar’at
(A) Mathura

(B) Kashi

(C) Kannauj

(D) Hardwar

Who is better known as ‘Firaq Gorakhpuri®
in Urdu Poetry?
(A) Dwarika Prasad

(B) Bishan Narain

(C) Raghupati Sahay
(D) Nawal Kishore

BT WIS A6 WP P Add DI 82
(&7 MEAGN BeEE i)
(B) T9Tel HWI TREel

1 (C) gre TER s
(D) Al T 3Tl

ww

'._—— HHHHH

Q E‘c?m?’ﬁa'z‘rﬁ b AR IR Uee & fbe
BE @I DA’ PHET AT TP
[(A) deerde |
(B) 3T
(C) 31
(D) ardeht

Q/ﬁﬁmzﬁaﬁmw E
(A) 3reit

:%;";1 I @B) figuR
{D) lu“-

gre uRa 4, e ¥ @ e,

STATfr # o, O f oA SERuey @ |
..Forer & Rerg 71

(A) cET%

(B) ITSlgY

(C] ATNTOTH]

(D) WY

Q22

W, we—fagr
AME S @ Udh g8 da DI WUl Bl
off |

(A) 5XT

Q23

T I A S TREq @ A A P
ufg 87

(X) gIR®T oS
(B) faem sIRIgr
(C) vgulay wary

(D) Fael ThR

Q24




Q25

Q26

Q27

Q28

Q29

Which of the following song forms are sung Q25
in the rainy season in Uttar Pradesh?

(A) Birha

(B) Rasia

(C) Chaiti

(D) Kajri

Dewa Mela at Barabanki is held every year
in the Hindu calendar month of Kartik on
the occasion of the annual ‘urs’ of the famous
Sufisaint . JODII
(A) NizamuddinAuliya

{B) Waris Ali Shah

(C) Moinuddin Chishti

(D) Salim Chishti

Which is the first state in India to have made
roof top rainwater harvesting structure
compulsory for all the houses across the
state?

(A) Uttar Pradesh Ry Tog—_
(B) Mabharashtra VURULY
(C) Tamil Nadu

(D) Karnataka

The ‘Slash-and-burn’ agricultural method of Q28
farmingisalsoknownas  inMadhya

Pradesh.

(A) Roca
(B) Penda
(C) Dahiya
(D) Kuruwa

Fn Y
-’

) |
- e

Which of the following books written by
Ibrahim Adil Shah Il during the 17th century
is a collection of songs in praise of Hindu
deities and Muslim saints?

(A) GitaGovinda

(B) Kitab-ge-Navras

(C) Padshahnama

(D) Muntakhab-ul-Tawarikh

SR 737 = IR & A A el
A% == = 710 MY SN EY

(A) 5= '

(B) ===

{Cy ==~

(D) ===

ST TT 3g dhas @ @i HeiA A g
= ¥ qar werl amnfora far e

[t

\ = ===2q 3ifer
B =T = 3¢l w8

TR T EY Y @ ST WY B 9 BR H
== = =9 @ U T wueor et &R

2T B?
LA) &N m

(C) THeArg - |
D) PATE

neyey ¥ W @ ot R sp ol @1 .
(A R

(B) T

(C) afeen

(D) ol

"

i i
|

e TE B SR gaen sifed wE ||
o oy 78 @i @ Freafafa g,
fig aarall vd qfers gftval & TormE @
e Ml BT HYET 87

(A) fig-mfdg

_,(-B) e —u—-avd

(C) urearg=rn
(D) HeRdd-Iei—raiRe



Q30 InCarnatic music, an ‘alpana’ is similar to a/

an in Hindustani Classical music TS B oo & GHIF BT 8 |
form. / &? 1 >/ (A) TRTI

(A) Tarana - o . (B) ot

(B) Tal / ) .;’@ (C) amemg

(C) Alap ! (D) Tercirt

(D) Tilana

Q31  TheIndian scientist and professor of Physics
read a paper on the theory of stringed

instruments before the Royal Society of
London in 1921 due to his deep love of
music.
(A) Jagdish Chandra Bose
(B) HomiJehangir Bhabha
(Cy C. V. Raman
(D) Vikram Sarabhati

Q32  is asimple tool which is used for
removing weeds and for loosening the soil.
(A) Hoe
(B) Rahat
(C) Dhekli
(D) Moat

Q33  Which of the following human diseases are
caused by bacteria?
' (A) Measles
(B) Polio
(C) Hepatitis B
(D) Typhoid

Q34  In which of the following Latin American
countries did a water war happen in the year
2000 against the privatisation of water
supply?
(A) Argentina
(B) Brazil
(C) Bolivia
(D) Peru

A-MS

riya s ‘

Q31 Wi dsnfae vd e fasT @ W
......... A Wt & ufer 3o e WR @ BRI
¥ 1921 A Tgd &I VTl AEES P GH
arR & diNd Syl & fagia w oy uF
gl fasar |

(A) STIEIY @y o

(B) &t SreifiR wmr

(C) 4. A1 39
(D) faspw wrTg

y/ ................... UPH HERY UG & e
YART SiTTell 911 B g iR RE) @) e

. &Y @ forg fbar wimar 8 |

(B) ¥&T
(C) dapeft
(D) #Ie

Q34 F=ferRea # 9 ® 3 gferell spiRe= 2w

7 @ 2000 # it @ angfef & folieRy @
favg o g g ur?

(A) IS

(B) aritel

[(©) aferfaan |

(D) U%
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Q35 The Headquarter of the Commonwealth W‘J A9 RER Ted (RATAsRaNE)
- Human Rights Initiative (CHRI) is located > BT T ..o 4 Rer 21
at (A) 757
(A) London (B ¥=
(B) Accra [(©) = ==t |
(C) New Delhi }DT g
(D) Sydney
Q36  Which was the first foreign destination that garE 75 0 7F A1) A 99 T8 B B
PM Modi chose to visit after he was sworn qre wevad fha Qs e @ AR fbar
in? AR eiva " n e
(A) Bangladesh (A) FERT
(B) Nepal (BY AU
(C) Bhutan J&y e |
(D) SrilLanka (D) 5
Q37  Which of the following countries shares its frifafag & @ @9 a1 SU IR U
boundaries with the Indian state of Uttar IR oI & GHIY AT Bl 87
Pradesh? (A) 99
(A) China : T
(B) Bhutan (@) Ut
(C) Nepal O ELGIER
(D) Bangladesh i N
Q38 ‘BIMSTEC’ is a sub-regional group Q38 ‘BIMSTEC’ T U‘%%\'ﬁﬁﬂ e & forad
comprising of seven countries of South aferor gRrn ud gféor g Ren @
Asia and South East Asia headquartered 97 e ¥, RIS JEe. e |
at . | '
(A) Kathmandu (A) PITHIG
(B) New Delhi (B) =¥ faeeh
(C) Colombo (C) prear
(D) Dhaka (D) @Il
General Hindi
Q39 e ¥ & B—wr v gl &7 Q41 Pl # W §-
(A) 3T i aleces T (A) I8
(B) g iya.inl g) wn
(C) TR (C) 7=
(D) W (D) fewrerd
Q40 fbT T T GANT WaT dgadd W gl 27 Q42 FrefeRaa # fagnor &
(A) T8 (A) Hieerar -
(B) T - (B) d¢ -
(C) 98 - (C) 741 -
(D) o ~ (D) gi& .



Q43

.

Q44

e w1 %@ o T w1 ara @4
(A) HPFT 3d
®) T |

[© srpraa |
(D) wfem

frrforfaa & dgd &—

(A) T

Q45

(B 3

(C) S=a
(D) tA

frmfaRea o acad 28—
(A) =T -
(B) TR

(C) gel

(D) UtEsh

Q47

Q48

T @1 yaiaardy T8l g
(A) ¥R

(B) ¥R

(C) wfora

(D) arg

e’ @ faem s
(A) B
(B) %a

(C) avd

(D) HR&d
ot 1 aef 81 BT 8-

(A) 38R

Q49

(B) ¥
(C) wmfer
(D) T=<x

1Y &A1 a8 BT 81 @ U U e
2T

A-MS

(B) T
(€) Fom
(D) qUE

Q50 ‘wifer—orell @1 wWEl A |/ drel Uk g
(A) Td—HiRT
| (B) st |
(C) HIRT-deh
(D) etl—dy

Q51 IAE H Suwf 2
(A)

(B) 5+
(C) A
(D) g

Q52 ‘HawES H USY &
(A) 3€
(B) 8¢
(C) arge
(D) M8e

Q53 ‘wxERl @ wf-fawms B
(A) 99 + 3
(B) T + 3

Py AT + 3

Q54 ¥ ug H o) o ARY I H AYH
3T B
|(A) 4
(B) 98
(C) @™
(D) HR &= AR |

Q55 Iy’ H OHN 8-
(A) §fa7
: (B) gdga
() IadmmE

(D) dcges

Q56 ‘3 Wl Al & | W i1 are 87
(A) &g 9
(B) & ar
(C) ¥ra ary
(D) febar are

SET-55



Q57

Q58

frfaRad o 9 sfe 8-

(A) T '
(B) T
(C) T=nm
(D) =}

=) ¥ sreu—favm &1 e &
(A) ?

8) ! Nl
(€) |

(D).

Q60

{B) g5l 8

A HeAT erar &1 3 -
(A) ¥ 98T

O T e

(D) gS9Id DAl

BTelT JeR AT aerae’ ATpifda &l aar el
&

4A) "al foran 9 &

(C) fagam =FT

_ (D) T E

Q61

3ga ¥ &1 il v 2-
(A) I
(B) STE

(©) faa

Q62

(D) w4

ERET B Yo axvl § e AT g 87
(A) 10

@B) 11

A

(C) 12
(D) 13

freifefad 7 @1 JRTEPR a8 87
(A) Srgu™

(B) a7 -

(C) ¥,

-

(B) Uel [l gI-l Jobr

Q64

Q65

. M .
™ [@ﬁj- riv e'} T
FAW W}y | "‘ﬁ o I '.'J | B |

Q66

? J

I | ” <&AL
.é

e # § dcu wfey -
(A) @
(B) 9

(C) o

(D) % -

Py 3 @ - ol sy 87

(A) 4@

(B) =t
(SR
(D) s

e ¥ 9 eF—ar Y ENfefT 87
(A) T

(B) gl

(C) &1
(D) &=

el & el @) mars geee wHa Wil
& 7S | gy | PEl, “IE © HEl TS &

Iree @ e gaar o @ fog
s w=d g4 1 98 e d ach e |

%ﬂmmﬁﬁqﬁrﬁeﬁlwmﬁmw
Al & S BT QU geN, df wHCT A
g1, Ufdrd HIS IV FaN € §U @8 a7 o,
“faen! S0 N @) H @ T & B, THAT
R e o, it iR fuf A get fasm
9T AT | g8 A I w7 |

riy va. ) A @ ge-Ter gE P 9gd fed

did Y | AT 979 R 9 @) gl B ) 98
oty ot # v 2 uh of | ger Sited
W@iﬁ@@fﬂ%qﬁm%~ﬁ
di=1 aeT v = 9 9l O ofer faeman
HEHT U JTIRIE) S P qaR 1 fewr
uer, HRaT F S R e ree & e g
SMTE I &I =Ry | gfedr IR g erh o
fort B b uar fas wmeme gan A fda
ouR B Aia s Ry o |
QUG T BT gAR A9 ford g
(Q67-Q71) & Iw QIffy—
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Q67

Q68

Q69

Q70

Q71

Q76 ‘LETTER'isto ‘"NGVVGT” as ‘ZERO’ is

g # a1 Zor o
[(A) Fasar 4|

(B) =ugiigdr -

(D) fazga=adr

el fomR aeR @l T8l Faetr?
(A) SHST R €l o
(B) 98 oI g% I -
(C) IR A gfder 7zl il
(D) =1ga &Nl

ferfeiRaa ¥ 31 gfea =1 @ar Tl ar?
(A) e '
(B) wrH

(C) HHIRT
(D) s

TGRS TE FAT AR A7
(A) gfear F1 dedl & forg
(B) RS &l demer |
(C) gfear & BuR B gel
(D) @&l fasm = & forg

e F ufdd B der v
[ (A) T & |

(B) W] &l

(C) HACT &l

(D) g @,

Q72

Q74

Q75

YRA—HRAT @ VDN B

(A) AfelTeror

" (C) ST wHTE

(D) ARGATS T

e Rig fasram @1 fhy i uwr wifew

raTel geehR fAer?

(B) 3geh
(C) T¥pld & AR e
(D) fFm=el

‘yeETgd fhaa e 87
(A) FER

LeB) s

=4 el B

(C) e
(D) geriier

IR ACd B AT B

LA) R BReEe
[(B) wrrew e |
(® Z:1ia IER
(D) ey et

Numerical & Mental Ability

to*
(A) XGTQ
(B) ZGTQ
(C) BGTQ
(D) BHUP

Q76

‘LETTER® @1 #deld "NGVVGT”
yeh R *ZERO™ &1 Hcleld ...

(A) XGTQ
(B) ZGTQ

(¢) BGTQ

(D) BHUP

g, ol
N i
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=p

ras

Q78

Select the word that belongs to the given Q77
class of words. ’
Papaya, Apple, Guava
(A) Pear

(B) Potato

(C) Brinjal

(D) Pumpkin

Q78

Determine the missing number.
3,4.6,9,13. ,24 ¢

- (A) 20

Q79

Q81

Q82

(B) 19
©) 17

(D) 18

Q79

What will be the 8th number in the following

sequence? - '

12,34, 78, 1516
(A) 256257
(B) 5556

(C) 5657

(D) 255256

What will be the next number in the following Q80

sequence? .
100, 121, 144, 169, ?
(A) 198

(B) 196

(C) 194

(D) 192

What will be the 11th letter in the following Q81
sequence?

AC E

(A) X

(B) W

(G

(D) U

What will be the 7th number in the following Q82
sequence?
3,6,12,24,
(A) 96

(B) 144

(C) 192

(D) 288

Jobriya.in

Jobriya.

I TeE BT 99 B ol Weai & Ay 7Q T
T e 2|

[ (A) Freramr |

(B) Alef,

(C)

(D) &g

arquRRera e PeiRa o |
34,6913, .24
(A) 20

(B) 19

(©€) 17

|

feriferRae arjera # 8] Hean dI+ 1 Brfi?

1234578151614

(A) 256257+
(B) 5556°

(§) 5657

(D). 255256

frerferfRad argess # amamd weedn e W
E’:f:ﬁ'? o = ] iy
{00, 121. 144, 169, ?

. (A) 198
Jobriya.irie ]

(C) 194
(D) 192

frafarlRaa argem d 1@ 3R &I W
BhT?

A G B =2

(A) X

(B) W

©) Vv

Freiferfee argeps 7 741 wien @ < grAr?
376, 12; 24~ =

(A) 96

B) 144

(D) 288

[ S0 Al a9



Q83

084

Q85

If TIME = 209135, then CLOCK =
(A) 31215314 o
(B) 31215511
(C) 31215311
(D) 31915311

i
V‘"JL

If Sheena is 40 m towards Sofuth-West of
Teena, and Reena is 40 m towards South-
East of Sheena, then Reena is in whick
direction with respect to Tei)ga‘?

(A) North-East

(B) East

(C) West

(D) South

o

B is standing 2 klm'\iaf WesQaf A. c\;
standing 1 km to the Nogh of B'and 2 km t
the East of D. E is standing Mm to the South
of D'and 5 km to t est of F. In which
direction is F with respect to A?

(A) North-East
(B) East

W

* (C) South-East

Q86 -

i mED

_(D) South

Consider the given statements to be true and
decide which of the following conclusions
logically follow(s) from the two given
statements, disregarding commorly known
facts.

Statements:

Some hens are ducks. Jol
All the ducks are pigeons. o
Conclusions:

1.  Some hens are pigeons.

I1. Some pigeons are ducks. '

(A) Only conclusion I follows.

(B) Only conclusion Il follows.
(C) Neither conclusion I nor II follows.
(D) Both conclusions I and 11 follow.

lobriv

s |

Pale o]} Jw .

i[‘_’}l

r4

-~y

Yy .

Q83

in

Q84

Q85

Q86

gfe TIME = 209135, @ CLOCK =?
(A) 31215314
(B) 31215511

() 31215311

|LD) IR

in

(D) 31915311

gfe R, &1 A efBv—ulR=m 31 3R 40
Hrew # g8 1R B, 3R A1, I ¥ cfdyer—gd
o 3R 40 Hlex A g W B, fhR A=, <
& ey e faem # &7

(A) SarR-gd

(B) ud

(C) ul¥an

B.A® ufdgw ¥ 2 faraniicy @1 g9 W &
C,B® e ¥ 1 fhadex iR D& gd o
2 freifier 9 g W &1 E, D 3R #
4 foreifie” 3R F & uf¥ent # 5 fbainiiey
A WL AD ave Ffrw faem 4 87
(A) ScR-9d

B) ¥

[ior < o ]

(D) e

fag U weFl W R W iR, wE:

gl A} FT TOR3ETS B gY, I8 Y

& o B A & - Ay 91 Ry g

HUFT BT AHGIT WY K AT B B

e

&5 [t aaw 8|

Wil a0F HER B

forep:

. &9 gfifar sg €

. $% $R TaE@ & |

(A) Pad fepd 1 g ovar 3 |

(B) @ddl frshy [1 grer=T e € |

(C) = e 1 @ik =1 € fsed 11 e
B 3 |

(D) fsd 1 3R Frepdd 11 <F &1 wrer
BT B |

SET-55



Q87

Q88

Q89

Q90

Consider the given statement and the Q8”7
following assumptions to be true and decide

which of the assumptions is/are implicit in

the statement.

Statement:

Save water, save the earth.

Assumptions:

I. Earth saves us from danger.

I[I. Water is colourless.

(A) Only a'ssumption lis implicit.

e —

SN Yy A aﬁT\I "“[ﬁ:”af[ HIQUIGI\ Efﬁ
=5 =% ¥R vy o & wem A am @

S

T AT e @) gall

£y

| =odY = gl | g9y © |
[ T+ a2

(A) Faa g | AaHRT B
(B) @ae evon 1] afifea 21

(B) Only assumption Il is implicit.

(C) 1 @ e&r=on | =7 & gRon 1 fafifRd

(C) Neither assumption I nor 11 is implicitC) [ 17
(D) Both assumptions I and Il are implicit.

Q88

Consider the given statement and the
following assumptions to be true and decide
which of the assumptions is/are implicit in
the statement.

Statement:

Group discussion is good to develop
communication skills.

Assumptions:

I. Teachers must arrange for group
discussion in the class. |
Each child should pe given chance to-
speak in a group discussion.

(A) Only assumption [ is implicit.

(B) Only assumption Il is implicit.

(C) Neither assumption I nor IT is implicit.
(D) Both assumptions I and Il are implicit.

1.

KT

‘(D}EI"QUTTISTWWHIIG\I'T\TGJHET%T%I

oy v weF R frferfad eromeii @

vl gus iR vt o 6 @ # @ 9@

HTRYTT / SROTY 3dfifad & /8|

BE s

T ?

A=A

1. fe e 3 @y g4 @ forg amven

- 2 R

(1 HA$ ded Bl g aal § drer

U e R wien =Ry |

(A) dac gRoT | fafifEa &

(B) @ae uRen 1 efafifea &

(C) =1 @Y eRom | A1 & aron 11 sfafifea
2 |

(D) SIROT [ 3R gRop 11 &) fafHfRd & |

Which of the following is NOT a prime Q89 = & 4 #I &@ amrey W TE 8?
number? G (A) ;ﬂbl*

(A) 1001 ¢ (B) J3pT

(B) 1301 “(C) 1681

(C) 1601 (D) 1901

(D) 1901 '

Select the most appropriate option to solve (@
the equation,

90 +6 x(24-8 +4) 3=

(A) 18

(B) 20
1

© 115

(D) 16

"

aﬂfiz?%'tfﬂa'@faug?ﬂ

J}_Iﬁ_y,(m 8 +4) +3=
'_Z""

(A) 18
1>$L

—

(B) 20

o

(D) 16
SET-55




Qo1

Q92

Q93

Q%4

Q95

Select the most appropriate option to solve
the equation.

I55x12=

(A) 18.06

(B) 18.6

(C) 1.86

(D) 186.0

Select the most appropriate option to solve .
B

the equation.

11_56 _

8 33
&) 3o
@A) 37

|
1
® 73

1
© 33

I
o 23 -

The HCF of 52, 78 and 156 is ‘
(A) 13
(B) 39
(C) 26
(D) 2

The LCM of 52, 78 and 156 is
(A) 156
(B) 312
(C) 234
(D) 468

|

The monthly savings-expenditure ratio of
Mrs Singh’s family was 3 : 8. Ina month in
which the family’s income was 27,500, the

* savings would have been 4

(A) 7,975
(B) 7,500
() 10,312.50
(D) 9,600

Qo1 wiawy B & P B forT WA SUYHd
fowe & gl

155x12=
(A) 18.06
(By 18.6

(C) 1.86

(D) 186.0

Q92 T B & TR B (Y T SUYH

' 11 356
e @1 g | 5 8
|
(A) 3;
1
(B) 75
0) 3+
©) >3

Q93 52, 78 3R 156 HI TEwWd Fagad

gERs 1K I ] — 1
(A) 13
(B) 39
») 26
) 2

Q94 52, 78 3R 156 HT THTH g (TeTAIgH)
I 1) |
A) 156
(C) 234
(D) 468

Q95 S Rig @ RaR @1 AfE Fod—ad
U 3 : g off| R W A aRar @
amrar 227,500 o, 9% HEW A Fud

(M) %7975

[ B) 27,500
(C) T 10,3125

(D) % 9,600

SET-55



Q96

Q97

Q98

Qu9

Q100

A-MS

The difference between a 13% loss and 11%
profit while selling a toy was ¥ 108. What
should be the selling price of the toy if the
profit earned was 12%?

(A) T 440

(B) T480

(C) X504

(D) X 514 - Jobris

If 45% of a number is 135. The number is
(A) 243
(B) 275
(C) 280
(D) 300

-

A set of cups, when sold for T 720, led to a
loss of 20%. At what price should the set
have been SOIEI& m}ke a p;oﬁt of 5%?
(A) 975 )

(B) 950

(C) T945
(D) X935

A pair of trousers with a marked price of
T750 was sold at T 660 during a sale. What
was the percentage of discount that was
offered?

(A) 12

(B) 125

(C) 11.5

(D) 14 Jobriva

What would be the interest payable on a
deposit of X 1,500 invested for four years at
8% simple interest per annum?

(A) T 500

(B) T 480

(C) ¥ 520

(D) T 475

Q96

] .(?r

s -

/Wwfﬁlﬂﬁﬂﬁsﬂ?jl%ﬂmw

fagra @1 3w T 108 8 | AfT a1t emr 12%
&1 O Raeie @1 g gor @ &7

(A) T440
(B) %480
(C) T 504

(D) 2514

Q97

Q98

Q99

fereil e &1 45% 3w 135 8| a8 W
w7 B? -
(A) 243
(B) 275
(C) 280
(D) 300

@Y BT U e o4 T 720 & &\d W 4
T, T 20% BT JTHA G| 5% BT aABT
o @ forg ¥ @l frvy diwe ur d=T ST
fC?

A (A 975

(B) 950

42 Tos5.

(D) <935

% 750 @1 3ifbq @ arell yael BT @

S T 660 TR qdl g off | gEd fba
Cil e

(ArT2

(C)ll.'S

(D) 14

8% dT¥e ARIRYT @19l & 8% 9 T 1,500
& 4 A DI AT NP
(A) T 500

(C) X 520

(D) T 475

fal oL B



Q101

Q102

Q103

Q104

A sum of money, when invested at a certain Qle1 Td R @1 W9 aifie Tyl sl DI UH
Aifad av w Baw fear omer 8 @ &
re are aRudd g ux a8 frafia afd &

1.21 T[T 8 ST 2 | affe amife & &

rate of compound interest per year, became
121 times the sum invested on maturity after

two years. What was the rate of compound

interest per annum? ER RIT 87
(A) 11% (A) 11%
(B) 10.5% b B (B) 10.5%
(C) 10% JOPI} ?1' A ANy 10%
(D) 9.9% (D) 9.9%

af alw @ A 6 5 g A fad
waﬂmﬁag@ﬁﬁzﬁrﬁaﬂ%m;ﬁﬁﬂ
@ﬁﬂﬁﬂ’fa§aﬁw§rf{mmﬁwmwé
forr | oy aRE WEN & 3§ @™ 70 10
& ogar 4w ok R @ dra W
fopart T o, i R A fba HEF aEd

Sathi and Rathin invested some mone?' / 2102
business in the ratio 6 : 5, but Sathi withdrew ’
her money after a few months. If the end-of- ’};"
twelve-months’ profit was shared between ’
Sathi and Rathin in the ratio 7: 10, for how

many months did Rathin alone invest?

(A) 4 fraer fapar on?
®) 5 (A) 4
©) 6 . LB 5
(D) 7 | Jobriya.in®© ¢

(D) 7

Samrat has an average of 51 after 11 Q103 11 wiRkAl A & & qre HHIC afie

completed innings. How much does he need
to score before getting out in his next innings

to raise his average by another two runs?
Fav v

51 2| o AT @) &1 ¥ g @ o
Wﬁmﬁmﬁ‘!mﬁﬁ%ﬁﬁwmﬂ?
FE D) AaLTHAT ©7

(A) 75 K 75
(B) 78 (B) 78
(C) 80 (C) 80
(D) 82 ( (D) 82

« -0
\ Vs

) s {4 Elﬁ" l:n v e | I‘: N | A
If 16 people can build a wall in 15 days. how \Qid‘fi Lt 16 cafid Te S 15 T F @ wad
%‘,H’faﬁ#fﬁﬁa‘rﬁiﬁm%ﬁ

many people would be needed to build it in

8 days? et & asragEEar g7
(A) 32 (A) 32
(B) 25 (B) 25
(C) 24 (C) 24
(D) 30 (» 30




Q105

Q106

Q107

Two trains, A and B, start simultaneously
from two stations X and Y that are 600 km
apart and cross each other at a distance of
225 km from X. If it took train B 8 hours to
complete the journey, in how many hours did

Q105 &I g+, ‘AaiR ‘B’ § | 7 &Y RyAT *X° aiw

YT ¥ U e AT g A E ol s
Y 9 600 freirfiey qv & 3k @ X
¥ 225 e & g8 W B W B
UR &Yl 8| 7fe 29 B & A gf e

trairi A complete it? “a . # 8 HC T, g A BN AT Q) B A
1 ﬁb_t‘l%f He LI
(A) 165
(A) 16—
3 | ']‘ﬁ “1‘ ™ ]
®) 125 Jobriya.in |
2=
2 (B) p
©€) 3 2
i (&) 35
(D) '35 |
13— "
_b) 3

The internal length, breadth and height of a
closed box are 10 cm, 8 cm and 6 cm

respectively. The total outer surface area of

93 diFq @ JiaRks @arg, e el

‘mé A 10 WY, 8 W aile 6

iR 8| dievt @) Al Wow B &

the box is 592 em?. If the walls of the boxl O 1) 1] \/ St s02 wdicwe & | aft dfewy &) iy

are of uniform thickness x cm, then x equals

U HAF HiTTg x daiey @) & ar x @
HI R?

(A) 1.5¢cm (A) 1.5 HEriex
(B) 1.25cm (B) 1.25 ¥ignfrex
(C) Tem (C) | TP
(D) 0.5¢cm (D) 0.5 TErfier
Jobriya.in

7 experts and 5 trainees can complete a job
in 9 days while 4 experts and 15 trainees can
complete it in 12 days. How many days will
5 experts and 6 trainees need to complete
the job?
(A) 10

- (B) 12

A-MS

©) 14
(D) 15

mn

Q107 7 fadivsl aiik 5 wlde] f5dl &1 @1 o R

AR @GR wHd § odfh 4 fadms ik 15
af¥e] g9 12 R # QU aw wad &) 5
faeiyst afik 6 ufdeg 301 el @ fbam fRt
H QT A e

(A) 10
(B) 12
(C) 14
(D) 15

SKFTRK



Q108 Devender leaves his home everyday at 8 am
and reaches office at 9: 30 am. One day, he
left his home at 8 am but travelled a third of

3
the distance at 7 of the usual speed and the

4
rest of the distance at 3 of the usual speed.

Q108 < Wi YAE 800 I W A e 8

aie 930 v B TgHd 8| Ud i
S SO ER 8:00 g% BT, oifd |

Trﬁ‘ﬁii:} o i o U g g @ A

o )1 9 g0 S T R P
7R w® g, B éﬁa_@ﬂﬁﬁﬁmﬁaﬁf

At what time did Devender reach office on , e o
that day? sl tiion e g ggar:
(A) 9:}25 - (B) 9:30am J 0 bf:ﬂya JANA) 9:25am (B) 9:30am
(C) 9:35am (D) 9:40 am (C) 9:35am (D) 9:40am

Q109 Select the option that is related to the first
term in the same way as the fourth term is

related to the third term..2 «®°

EARTH :  YFNUS : XGPWU
(A) GBSUI

(B) GCTVI

(C) CYTV) ;-

(D) CYPUI

Select the word pair from the alternatives in

Q110

Q109 99
TP e & o geR Al ug e ug
I HeforT B
EARTH: _ : VENUS:XGPWU
A) GBSUIJ =
(C) CYTVJ

(D) CYPUJ

foreri

Q110 oy wq freedi § a8 Tea—g™ g '
fay

which the words are similarly related as they srg O udR et & o yaR Gl
are in the given word pair. Y TR .70 &g qal
Profit : Loss J{jbﬁﬂmyﬁﬂ% . g1
(A) Breadth : Width (A) 3mar : ASiE
(B) Surplus: Deficit lR) aieer : ger |
(C) Viable : Feasible (C) @ : gTd
(D) Vacant : Empty (D) w@ed Rt
Q111 Select the option that is related to the third Qll1 s famed e T R Sl R U | I
term in the same way as the second term is YR EiRd & R YHR O UG IFd U9
related to the first term. § wafda g1
Gold : Necklace :: Iron : HEAT 2, BR = ATBT 1 v
(A) Shirt - i A TS
(B) Ribbon meﬂﬁ’v‘ '%W%B) e
(C) Book C) UK
(5) Bucket
Q112 ‘LENTSI’ is to ‘DLOU" as ‘GBI is to @‘LEI}‘_TSI’ 1 7@ DLOU” 2, < TR
s i ‘GBI @1 AT " B
(A) HORST (A) HORST
(B) ALLMS (B) ALLMS
(C) AFT (C) AFT
(D) HINT (D) HINT
~
G -4
Q113 ‘BAG’isto ‘FEDas‘GOD’isto’ i Q113 q'f}_\i\_(}”ﬂﬂﬂ'cﬂ ‘FED' 2 ¥ PR “GOD’
(A) KSA BT AAA e '
(B) LSA AR) KSA
(C) KSB (B) LSA
(D) LSB

C) KSB
_

QET_RR

fﬁmmwaﬁ?ﬁizﬂ%ﬁwﬁeﬁr'

Y



0114

2115

L1l

NS

Mental Aptitude, 1Q & Reasoning Ability

Select the option that is related to the third Q114 =% Ry &1 g9 &Y O RN Ue & S

term in the same way as the second term is F7= ddfgd B f9Y TeR gERT Ut uEd
related to the first term. L mEEER R A

16:264::227 ey w38 1 -

(4) 220 [

(B) 440 —

(©) 284 O s

(D) 495

Jobriya.in . s

Pis the Sisterof%R is the father of Pand S QI3 P.Q# 98T &: R.P &1 faen & 3k S, R

is the mother of R.Qc?‘v is S related to Q? #5180 4 %1 gpr Hdda 82
(A) Grandfather (A) &rar

(B) Granddaughter (B) drar

(C) Grandmother _t{(}) gral

(D) Mother (D) #f

i A \ L
Durga is Bhanu Pratap’s wife. Durga’s son.“j quy%ﬂ“% yTg @1 gl 8 | g @ 92, Ao

Vijay has two sisters, Shalini and Malini.
Shalini’s husband Murugendran has a son,

Shivam. How is Shivam related to Bhanu

Pt ar ged, wnferl iR wfer &) wnferd
F ufd q%iET B U e, Ram ) REa
g wam ¥ by yeRr wata 82

. ©
Pratap? il (A) gHTE
(A) Son-in-law (B) g=
(B) Son () AT
(C) Grandson EGIED
(D) Nephew i i
Jobriya.in

QU7 iy, aiRwr &1 ufdy & | W & e, e
&1 TP L, ﬁfﬁl 3R e g8, TRAT B |
ﬁﬂlﬁmnﬁ‘m@fﬁmmwfﬁaé?

Manish is Garima’s husband. Paresh’s wife,
Nalini has a brother, Jignesh and a sister,

Garima. How is Jignesh related to Manish?

(A) Father-in-law (A) TR
(B) Brother (B) Wig

(C) Son-in-law (C) <mMrs
(D) Brother-in-law (/D’-'} qg-g

21 SET-55



Q118 In the following Venn diagram, which ollg Frefafed 31 v ¥, P G e 9
st Ber @Y AEaR QA & S 3 €

number best represents Indian crop which is
a cereal but not rare? e g‘&fﬂ T8 2

1
2
s Ta T N %
1. L 516N\ ..

\ 9 ,E_”E O
A Rare
D Cereal
O o
Dlndln
©) 7 (D) 3 )7 = i

Q119 Which of the following numbers in the Venn Q119 o e # F QB A EE
. arelt i forfSan @1 wokd /7

diagram shows the colorful singing l::iigdl_;{Q }""5 s
JORI

§ ™

%
L

1 ‘h
4
BIRD ] ®eiRD
/\ COLORFUL /\ COLORFUL
O sinGING . O sincING
(A) 5 (B) 6 Ay 5 (B) 6
) 7 (D) 2 <) 7 (D) 2

Q120 Which of the following options best suits the Q120 Frfifea d A @i & fwea Freifdag
¥ o @ fore i suga &7

following Venn diagram?

(A) urd, AR, wam

(A) Metal, sodium, fluorine .
(B) Thyroid giand, pituitary gland, (B) emaigsHfy, digy Ry, s T,Tf"l"
endocrine gland (C) g, fuett, g
(@ e, gk U, T |

(C) Grandfather, father, son

1 Tiliime Deadach T uclnnw




Q121 Which of the following numbers in the Venn QI21 o g #H 7t # & i Y e BRI
diagram represents the soft- hearted teacher? HLATUSH D TYAT 2?

1 @ _
2(\ Job
N
)\ strict Z\ strict
[] soft Hearted [ soft Hearted

O Teacher O Teacher

(A) 2 (B) 4 (A) 2 BY4

© 5 (D) 3 (©) 5

122 Which of'the following numbers in the Venn Q122 o IRw # fot # & Bl W G s
diagram shows the wicked black cat? HeA! faeeht @1 auid 8?2

a 2 . »
21 =) ad # B
-"\:L onriva.in

2
4\ [J wicked ﬁ 4\ [ Wicked

A Black 5 A Black
O Cat { M O Cat

(A) | | ) 1

(B) 2 (B) 2

©) 3 £€7 3

(D) 4 , (D) 4

'dQ123 Find the odd figure from among the Q123 fifeha angpfaai # & sRiTa @1 ggaM

following: HN:
* T Jobriva.in .- o
Ca @ JoPrvainge an

ol o (&) ey @ &
s I - /
SNEA *x . =R %

© *®57 ﬁd © 695 J o] o0
e S Sl R Mo

_A \TO e |




QI24

Q125

Q126

Q127

Which word does NOT belong with .the
others?

(A) Graph

(B) Bar graph

(C) Histogram

(D) Monograph

Identify the odd one out from these
alphabets:

(A) A

(B) F

(C) E

(D) Z

Identify the odd one out from these four

figures.

Al

A B  C D

(A) A
(B) B
©) C
(D) D

Identify the odd one out from these four

figures.

(A) A
(8) B
€) C
(D) D

Qi24

QI25

a9 w1 v s el ¥ A 82
(A) 6

(B) &R UTH

() ey

(D) HERITE

fﬁﬂ%rﬁa'ﬁamﬁﬁﬁamﬁﬁaﬁwﬁz

(A) A~ \

Q126

- Q127

B) F =
O E~ %
(D) Z -

& ¢ AR PRt W IAWTA Bl GEAN

N |

A B C D

L) A
(B) B

Oc _
|(D) D - =

&) 7$ =R et # W S B TEA
T

Nes

(A) A
(B) B

©) C

(D) D

=Ms

[ak nle AV



J128

129

2130

EMS

Find the odd figure from among the

following:

‘x5

Out of the five letters marked (a), (b), (c),
(d) and (e), four are similar in a certain
manner. However, one letter is not like the
other four. Choose the letter which is
different from the rest.

B Y F z A

(a) ® @ (@ (e)
(A) b
(B) a
(C) ¢
(D) e

Out of the five letters marked (a), (b), (c).
(d) and (e), four are similar in a certain
manner. However, one letter is not like the
other four. Choose the letter which is
different from the rest.

S|T|U |V | W

{a) (b} {c} d (e)
(A) ¢
(B) d
(C) e
(D) a

25

Q128 F=fi¥ed anafiyl #§ & s @ wsaE

o 26 5‘

\,
s

© LW
4 ~

~

r

™

Q129 (a). (b), (c). (d) 3R (e) ¥ 3ifha dfg Ry

9 9r A Hify v v &) aaife,
U e 3 IR ST 8T & | S 38R 3]
g ST 3 SRt | fr 2

B Y F z A
&

| —

g—

i@ A G @ @
L __:..' t:&') > b y »

(B) a

©) c
(D) e

(a), (b), (c), (d) 3R (e) ¥ 3ifera dfar sieRY
AW AR G iR e waE §) e,
UF 3R aR Siel T8 § | 39 3R B g
S 3 3Rl W e 8

.} fol v) 25 Qi 0y
LY = i

S|IT|U |V | W

@ ®» @ W
(A) c
(B) d
© e
(D) a
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Q131 The problem figure follows a certain Q131 we ampla P Pidea @A # | SR

sequence. Select the choice from the answer gl § § I AP H A BN ol
figures that continues the sequence. g HH @l SR Tl |

Problem Figure:

Jobri
Answer Figure:
A B ¢ 2
(A) A oo
B B (B) B
©) C B
(D) D | P

Jobriya.in

et o

Q132 Select the correct image that will appear in < Q132 vwEfiE W W U8 amia @l TEAE G
place of question mark: -

T A T e gl e ‘?
IR #oa]  Hini | ! v %
| bl ,\:,;Q;:_':.-..|' 5 LY ole




Q133 Three out of the four figures given below
are similar in a certain manner and one is
different. Select the figure which is different
from the others.

R eIl e

UC||Jullcul(an

A B c D X
JO

(A) A

(B) B

(C) C

(D) D

2134 Select the correct image that will appear in

place of question mark:

QI33 AR & 9 Rl # B S fed

/\ : : ? ~_: LJ
(A) ! O i
0,
®) l __
’ JoDbl

A-MS

27

fAfR=a alie O ve g € ik e B
B U MFQ @ g o e A Qe
gl
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Q135 Study the incomplete figure titled “X", and Q135 e <X arell Ui AT T eAAT an

then select the correct option which will sl fibe o Rroea ) 74 ot “X7, @ O |
complete “X. T | '
Figure X: i X:
A7
7
Answer figure: \JObrlya.inTﬂﬂ amgpfe
A B T D A ] c J2
(A) A (A) A
(B) B (B) B
(C) C ' (C) C
(D) D (D) D
Q136 Find the correct mirror image of the given Q136 &1 g ANl @ wE advr yfafda g G
figure: ‘,; =
LIS b IR A
v Jobriya.in

. - (A) @E (B)
(A) @\E: (B) %El

@;\l—j] (D) WF—\ = pa)

Q137 Select the correct image that will appear in Q137 wFfie & wTE WE G B vEAH ixs

placeofquestionmark_: JObrlya In o+ &'D: N U 0!z 9
0+A-D:::Q“V+O=@ b \E

A (A)
WS\ ® /i\_/
L0, ©
© L) o \/ \77

A MQ 28 SE'[‘_1 a




Q138

Q139

Q140

\-MS

Consider the given statements to be true and Q138 fRU 7T FeHl &1 wE AR 80 I8 w“‘-""‘”
decide which of the conclusions logically PHIRT fb #iF & fAsed faw 77 TR
follows from the statement. difhes ®T F 7 @i § |

Statements: HU.

All flowers are blue. I we oA g

Blue means pink. el &1 A et B |
Conclusions: . : ﬁ&mﬁ :

. Some flowers are pink. J O b L“y‘?ﬁ AN %5 oo o §

1. Some flowers are blue. JJ ?TB WA Al B |

II1. All flowers are pink. . hd Teirdr &)

(A) Only conclusion 11 follows Pac ﬁf&ﬁ“ L #d @ 2

(B) Only conclusion IT and I11 follow (B) @dael Frepd [1aR 111 9 wrar €
(C) Only conclusion 111 follows (C) daa s 1l e Wi 84

(D) None of the conclusions follows (D) B0 s e & @ 2

Q139 f&T v wu-l @1 @&l 4 g g% fAvfy
ST o 4 A s Ry v Fom! @
difdres wq | FeT @ &)

Consider the given statements to be true and
decide which of the conclusions logically
follows from the statement.

Statements: DY

Vehicles are machines. miEui A7+ -

All trucks are vehicles. T g WSl ?
Conclusions: fovsep ) R

I. Vehicles are trucks. l~ahriva jn |- TRE TE §1-
II. Machines are vehicles. Jobi Hj‘fa“ in e fEAr 2
IT1. Trucks are machines. 1. g 7uid 2|

A) Bad frd 11 B @ 2
(B) @ad 1-=py | Hof @ml o |
(C) @ad frpy 3R 11 T @i &
(D) @1 ¥ 3ERY Al & Wi &

(A) Only conclusion IIT follows

(B) Only conclusion [ follows

(C) Only conclusion Iand IT follow
(D) None of the conclusions follows

Q140 3T U FoMT &1 wd AF gy 48 fvky
DIRTY =1 4 [ fpwel gdureon afafifRa
7
T

Which of the following assumptions is
implicit considering the following statements
to be correct?

Statement: _ ‘ '
“In order to bring punctuality in office, we b Sk AT SN 9 ¥ e
must provide conveyance allowance to HRITCTA ¥ Fragen o gRRed o &

employees”, says the GM to the HR head. fere &+ eeiaRe @1 ares W war ae

Assumptions: BT |
. Allowance will not help in increasing g -
punctuality. RIS e S 2 P R M S 2 ol S I R
II. Discipline and reward goes hand-i |n~ . lll. AT 3R GRPHR AR~ Foid
hand. Jobri ya.ln &

(A) qduRon daer 1§ siafifea &)
(B) Only assumption Il is implicit (B) YdeIROT dae 114 siafifed &
(C) Either I or I is implicit (C) arar 1ar 1 IyafiRa &)

(D) Both I and II are implicit (D) 13R 113 & sicaiRd & |

(A) Only assumption I is implicit
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Q141

Q142

Q143

Q144

A-MS

Select the option that is related to the third
term in the same way as the second term is

Ql41 oW fided 1 gaT T Sl AR ug | 4l
yoR Wefdd & g gPR gEY ug uE

related to the first term. ug § Hafed Bl
65:8::82:? 65:8::82:7
(A) 7 . (A) 7

(B) 9 4B) 9

) 8 P T . (©) 8

(D) 38 Jobriya.in o)

Select the nption that is related to the third
term in the same way as the second term is
related to the first term.

Books : Knowledge :: Films : ?

(A) Frustration - :

(B) Entertainment

(C) Havoc

(D) Emancipation

In a boat race, Raman came ahead of Vaman
by a 10-second margin; Naman came ahead
of Gagan by 12 seconds; and Laddan came
ahead of Madan by 18 seconds. Vaman
finished just | second after Laddan, and
Naman finished 2 seconds after Madan.
Who among the given friends finished first,
in the race? JOD
(A) Laddan
(B) Raman
(C) Vaman
(D) Madan

Six friends, Lata, Mala, Neghui, Olly, Pamgét
and Qadira are sitting in a circle facing the:
centre. Each person is seated exactly
opposite one friend. Qadira is sitting neither
next to nor exactly opposite Mala or
Parmeet. Parmeet is sitting exactly opposite
Lata. Neelu is sitting to Parmeet’s immediate
right. Mala is sitting opposite Neelu. Olly is
sitting to Parmeet’s immediate left. Who is
sitting opposite Olly?

(A) Parmeet

(B) Lata

(C) Qadira

(D) Either Mala or Neelu

JODI

briya.i

e
i

o

Ag143

Q142 9 fawed I T S S e e | S
yHR G 2 R YeR gE ug usd
g ¥ Hafd 21

\/ﬁﬁﬁzgﬂﬁt:ﬁﬂ:?

e |

- (C) ddral
(D) Hfext

T AT S F, W, aFE ¥ 10 96
TEe; A, T W 12 VHS TE AN @,
e W 18 UBS U 7T & | A, TEA 9
Hd 1 AP 18 AR T, HEA I 2 HHS
12 <re 79 wean 31 e e M A @ @
dre § vem I 87

(A) A
(B) v v
(C) amA
&) F&

Q144

_(A) Tl
;;,‘\_ 1™ 8 M?‘T{:ﬂ
| N | r\:f‘f A P?" tf(c)

(D) ar @ wrar ar e

SET-35 4 115



2145

Q146

Q147

n149

Q150

Select the option that 1s related to the third
term in the same way as the second term is
related to the first term.

Oral : Speak,: : Aural : ?

(A) Read®™.

(B) Write

(C) Sing o
(D) Listen ' J(

Y
In a three-legged race, Sit}féjta came ahead
of Anil-Sunil; Anju-Manj® came ahead of
Sona-Mona; and Luv-Kush came ahead of
Sita-Gita. If Anil-Sunil were ahead of Anju-
Manju, who won the three-legged race?
(A) Luv-Kush
(B) Sona-Mona
(C) Amii-Sunil
(D) Sita-Gita

Select the option that is related to the third
term in the same way as the second term is
related to the first term.

England : London : : Bangladesh: ?
(A) Kolkata . v
(B) Alipore JuUwv
(C) Dhaka

(D) Saiimgonj

IfF *MINISTER’ can be coded as
‘RETSINIM’, then how would vou code
‘PRESIDENT?

(A) SIPRETNED

(B) TNEDISERP

(C) PREDENTSI “Jobri
(D) TNEDIPRES o

In a certain code, BAD is coded as 16-1-4.
How will CAGE be coded?

(A) 9-1-49.25

(B) 23-49-1-9

(C) 16-1-4-9

(D) 25-1-9-49

In a certain code language, THANKS is
coded as SKNTHA. How will REGRET be
coded?

(A) REGTER

(B) GERRET

(C) TERREG

(D) TRREEG

Q145

Q146

Q147

Q148

™
B B
@ |

Q149

Q150

I fdbeu &1 Tam o o) de ue @ 9
YBR WA & 9 geR gwT g vwer
9% & HeRq &

ARaes - Fge ’HE’I ?

(A) ggT

(B) ferae

(C) I

(D) g

v g 3Ys 4, Ao sifra—gia o
UEC: SAS-HY WA W U

{A) TI—H3
B) a=T—AT7
(€) -
(D) Hier—frar

39 fadmed &1 7 o off e W) QY S
ww@aa‘rmmmwm
W@rﬂaﬁm%l

afe el @e v § CMINISTER® @)
‘RETSINIM® fifea T 8 at 3T
‘PRESIDENT’ &Y a7 fore? '
(A) SIPRETNED
I%’)/TNEDISERP j

) PREDENTSI
(D) TNEDIPRES

T FAREa 3 Wit § BAD 9 16-1-4 #r
WW%I CAGE &1 $Is &1 a‘mT?
AY 9-14925 T

(B) 25-49-1-9 %

(C) 16-1-4-9+

(D) 25-1-9-49

-

va faf¥ad @ W F THANKS @t
SKNTHA &' ST & | REGRET &7
DS TT T : =%
(A) REGTER

)} TERREG
(D) TRREEG

331



ya.in

Option

Jobr

Question

Number
133

134
135

136
137
138
139

140
141
142
143
144
145
146
147
148
149

150

n

-

Option

Jobriya.

D

Question

Number

89

20
91

92

93

94
95
96
97
98
99

100
101
102
103

104
105

106
107
108
109
110
111

112
113

114
115

116
117
118
115
120
121
122

124
125

126
127
128
129

130
131
132

Option

Question

Number

45,

46.

47.

48

49

50
51

52

53

54
55

56
57
58
59
60

61

62

63

64

65

66

67

68
69

70
71

72

Fi

74

75

76
¥4
78

lobhriva._ imizs

80

81

82

83

84

85

86
87
88

Option

C

Question

Number

10.
13

12.
13.
14.
15.
16.
17.
18.
19.
20.
21.

22.
23.

24
25.
26.
27.
28.
29.
30.
31.

32.

33.

34.
35.
36.
37.
38.
39.
40.

41.

42.

43.

44.




